ration:

e: 30 mins.

L morphem

ntlection

. lcon

Symbol

many Ly pe

1821 C
s nied

nde




11.

2

13.

14.

15,

16.

17

18.

19.

20.

The IPA symbol [y] stands for:
a. Unrounded front close vowel b. Unrounded central close vowel
¢. Rounded front close vowel d. Rounded central close vowel

Assertion I: A closed syllable has a rhyming branch.
Assertion II: A closed syllable has a complex coda.

a. BothIand Il are true b. Both I and II are false

c. lis true but Il is false d. lis false but Il is true

The sounds [k] and [h] are similar in:

a. Manner of articulation b. Air-stream mechanism

c. Place of articulation d. Voicing

Vowels are different from consonant sounds in that:

a. They are articulated with the back of b. They can occupy the nucleus of a
the tongue syllable

c. They are always nasal d. They are always voiced

Vowels are:

a. Voiceless sounds b. Voiced sounds

¢. Diphthongs d. Semi-voiced vowels

Assertion I: The term bilabial refers to an obstruction caused by the movement of the

lower lip towards the upper teeth.

Assertion II: The production of /k/ involves a vibration of the vocal cords.

a. lis true, but Il is false b. Both I and Il are true

c. Both Iand Il are false d. lis false, but Il is true

The branch which deals with the production of sounds is known as:

a. Articulatory phonetics b. Auditory phonetics
c. Acoustic phonetics d. Transmitory phonetics

In the production of which of the following, types of sounds, there is a complele closure
of the oral cavity and sudden release after a little pause?
a. Affricates b. Plosives
¢. Fricalives d. Laterals

One of the criteria for description of consonant sound is:
a. Lip rounding b. Noise component
¢. Manner of articulation d. Position of the lips

During the production of oral sounds, the nasal passage is completely blocked and the
air escapes through the mouth alone.

a. The statement is false b. The statement is partially true

¢. The statement is true d. The statement is partially false
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